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tirne - Thiee hours
(Maximurm Marks: 75)

INB: (1) QLio. 8 in PART - A amd 0o, 16 in PART - B ore compulsory.
ANSWET any FOUR  guestions from the rermaining in egch PART - A
oed PART - &

{2} Arcewer division fa) er divisions bl of pack guestion in PART - ¢

(3} Each question carmies 2 Marks in PART — 4, 3 marks in Pory - o
ard 10 soarks i BART - o

PART - A

Define specific weight of o fluid.

Define Pascol’s Law.

Detine uniform flow of flujd.

write ony twa differences of Froncs ond aplar turbinos.
Differentiate plunger and piston PUMIDS,

List out the important elements 8F onetmatic swstems.
Cefine de-amulsibility,

Define hydroulic gradient Line.

PART - &
Differentiate qouge pressure, vacuum Frezsire and absclute pressure.
Write short notes on hydraulic press.
state any three dssumptions made in Ber noullis theorem.

Serive on expressiaon for the forge cxerted aad wark done by the jet ona
series af mowving plates

write short notes an FRL unit,

Compare hydraulic systerm with pReumatic syster,
Explain the working of any ona tyoe of accumelator.
Qiffarenticte meatering-in and metering-out drowits.
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PART - C

Exnlain with a sketch, the worsing principle of o Bourdon's tube
pressurae gauge. Mertion its dpploations.

' {r}

) Dxplofn the pressure messurernent by ‘nclined tube ricra
Mmancmeter.

[fi) The wofudm prossure in o pipe line corrying water was
measured Dy U-tube manometar. The difference of mercury
hetween the Umbs is 5.05m and the free surface of mercury in
the opan Limb is 0.2m below the centre ling of the pipe. Find
the abselute oressure head in the pipe in terms of metre of
wator,

A pipe line is carrying water at a peint A the diameter is §00mm,
the pressure is 70 kMAmT and sre velocity is 2.6 mfsec. AL anothar
paint B which s Zm higher then A in Lhe same pipe, the digmetar s
I00mm ond the prassureis 14 kN/m?. Getermine the direction of

Flores,

{Qr)
(il Derive the Chezny's formulo for the loss of head due to friction
ir pioes
(il A pige of 1m digmeter and 1km long delivers water o a own
at the rate of 10am¥fssc. Calculate the loss of nead due to
frictiom s f=0.04.

Witk o neat sketch, exolain the working oF Pelton wheel!
{Or)

Cxploin the construction and working of submersible pum with
nedat sketcn,

Drow o pheumaiic croult for the direct control of single acting
cytinder and explain.
[l

Drowe the pneumatic eircuit for the outomatic operation of double
acting cylinder and explain.

i1 Explain spring loaded ccoumulator with sketch,
() Ewplain the working of pressure intensifier with a reat sketch.

{0rl
lil Explain the operat’on of internal geor purng with neat sketch,

{iit Exploin the hydrowlic creuit witn 150 symbols for the quick
return motion of a shaper,



